2015-01-09

sE16[E 8EE FrLYY 973795077 WEATHER : Gloudy
CHALLENGE CLUB(1/9) COURSE : Wet
1Gr.Time Attack 1[B1H
Lap Time Chart EfRL—2>F3—X

1 CiIR it MEBEF—-—LIKVIN-86L—-Y VY 86 PIT: 1H

1= 3= 3'02.820 4= 3'01.811 5= 2'55.657 6= 2'51.157 7= *2'50.293
2= 10'23.550

2 CIR{® B ZR47F2A&=Y PIT: 1@

1= 3= 3'02.871 4= 3'25.753 5= 3'01.940 6= 3'14.271 7= *2'58.732
2= 12'20.871

3 CIRF #E B8 — 86 PIT:1[H

1= 3= 3'22.538 4= 3'07.878 5= *2'57.882 6= 2'58.011 7= 2'58.220
2= 11'55.585

5 CiSth g # T YtvHSiR PIT:1[H

1= 3= 2'59.040 4= 2'58.495 5= 2'57.277 6= 2'59.199 7= *2'48.533
2= 11'55.967

6 CIRIR 88 # Xk RG-O:# [ & TEG-6 YLtvw)SiR PIT: 1E

1= 3= 2'48.757 4= 2'48.571 5= *2'44.360 6= 2'49.537 7= 2'51.835
2= 11'53.263

7 CiRit RthA4Y595 4755 PIT: 26

1= 3= 2'42.336 5= 2'42.717 6= 2'45921 7= *2'41.937 8= P2'54.745
2= 11'52.606 4= 2'42 531

8 CSHE A E XTRYBOX#l 8 EBE F3ZI8 4795 PIT: 2[H

1= 3= 2'44.790 5= 2'37.139 6= *2'34.538 7= 2'45.277 8= P3'03.023
2= 12'20.954 4= 2'38.312

9 CREZEH RIIT/-IVTTH. H KXKBZBNDHEIERDFEFT ! YEv)

1= 2= 3'00.248 3= *2'54.261
11 ClS& % #M KX 4v79'7 PIT:2[H

1= 2= 12'00.393 3= 2'54.735 4= 2'50.405 5= *2'47.593 6= P3'33.662
12 CIRF JI E # 0-FR4-PIT:1E

1= 3= 3'01.159 4= 2'55.228 5= *2'54.229 6= 2'57.958 7= 2'54.906
2= 12'02.680
13 CRWE TR M-FY7 PIT:1H

1= 3= 3'06.724 4= 3'02.859 5= 2'58.119 6= *2'55.780 7= 2'57.996
2= 11'34.872

14 CIR R E RKEEYSYABYLAE & & 2T~ 86
1= 2= 259585 3= 257005 4= 309.055 5= %2'56.020 6= 2'57.191
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sE16[E 8EE FrLYY 973795077 WEATHER : Gloudy
CHALLENGE CLUB(1/9) COURSE : Wet
1Gr.Time Attack 1[B1H
Lap Time Chart EfRL—2>F3—X

15 CIRE % A —-FY—-ERA RN - 86 86 PIT:1H

1= 3= 10'18.937 5= 2'45.420 6= 2'43.564 7= 2'45.473 8= *2'42.775
2= P3'35.794 4= 2'48.466

16 CIRE O #® # BRZPIT:1[

1= 3= 3'06.943 4= *2'53.851 5= 2'55.880 6= 2'56.649 7= 2'55.422
2= 12'19.122

17 CAREHA # 3 Hh¥LF PIT:1[H

1= 3= 3'23.523 4= 3'17.036 5= 3'07.682 6= 3'07.744 7= *2'57.563
2= 12'00.691

18 CREH E t#h YEY) PIT:1ME

1= 3= 2'45.221 5= 2'39.782 6= *2'38.751 7= 2'38.861 8= 2'43.806
2= 11'06.089 4= 2'40.837



